Wednesday - Answers




Thursday - Efficient Subtraction

https://vimeo.com/428003455

Click the link, watch the video of the day and complete Sheet
1 and Sheet 2.

(You can then complete Thursday challenge, if you want to do
more maths.)

Remember to self mark or ask a sibling or parent to mark it.


https://vimeo.com/428003455

Efficient subtraction

o a) Use the column method to work out 704 - 696

H TO
7 0 4
6 9 6

b) Count on the number line to work out 704 - 696

695 696 697 698 699 700 701 702 703 704 705

<) Which method do you prefer? Why?

° Complete the subtractions by counting on.

a) 902 - 897 = |:’
b) 1,902 - 1,894 = |:]

) 2,027 - 1,999 =

o a) Use column subtraction to complete the calculations.

H T O Th H T O

7 0|0 6 0 0

3 48 2 1 5

351 + 1 = 352
so 700 — 348 = 352

Rosie’s method to work out 6,000 - 2,145




Thursday - Sheet 2

¢) Amir's method

H T O H T O
7.0 6 9|9
-1 3X4 |8 -3 47
3 5 3 5|2

Use Amir's method to work out 6,000 — 2,145

[ 1

O

d) Whose method do you prefer, Rosie’s or Amir’s?

‘J Use the column method to work out the subtractions.

a) 500 - 341 c) £3,000 - £2,782

b) 1,000 - 729 d) 10,000 mm - 7,302 mm

9 A theme park has 3,002 light bulbs.

1,785 of the light bulbs are blue.
How many bulbs are not blue?

Use a method where you subtract 3 from each number.

Eva is working out 7,385 - 1,999
I subtracted 2,000

7,385 - 2,000 = 5,385 from 7,385 and then
ey added one on.
7,385 - 1,999 = 5,386 \."_>'/"="

a) Explain why Eva’s method works.

b) Explain a different method that Eva could have used.

The method should involve changing each number
before subtracting.

¢) Work out the subtractions.

4,512 - 2,999 = 5,147 - 997 =

3,704 - 2,998 =




Thursday Challenge

Amir has £1,000

ds ™S>

He buys a scooter for £345 and a
skateboard for £110

How much money does he have left?

Show 3 different methods of finding the
answer.

Explain how you completed each one.

Which is the most effective method?



Thursday Challenge Answer

Children shoulo

use the three
methods
demonstrated in
the varied fluency
section to get an

answer of £545



Efficient subtraction

o a) Use the column method to work out 704 - 696

H

7
6

0

b) Count on the number line to work out 704 - 696

695 696 697 698 699 700 701 702 703 704 705

¢) Which method do you prefer? Why?

\/GNOUS  ONSLIESS.

e Complete the subtractions by counting on.

u)9oz-897=

b) 1,902 - 1,894 =

) 2,027 - 1,999 =

o a) Use column subtraction to complete the calculations.

HToO o

‘70 0 0
3 48

3 2

5
5

You have bp moke wultple exchongen o eoch

351 + 1 = 352
so 700 — 348 = 352

Rosie’s method to work out 6,000 - 2,145
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©) A theme park has 3,002 light bulbs.
1,785 of the light bulbs are blue.
How many bulbs are not blue?
Use a method where you subtract 3 from each number.

Eva is working out 7,385 - 1,999

I subtracted 2,000
7,385 - 2,000 = 5,385 jrom 7,385 and then

added one on.
7,385 - 1,999 = 5,386 b

@ a) Explain why Eva’s method works.

d) Whose method do you prefer, Rosie’s or Amir's? l

° Use the column method to work out the subtractions.

) £3,000 - £2,782
b) Explain a different method that Eva could have used.

The method should involve changing each number
before subtracting.

¢) Work out the subtractions.
4,512 - 2,999 = 5,147 - 997 =




Friday - Reasoning Challenges

https://whiterosemaths.com/homelearning/year-4/

Have a go at completing the White Rose Maths Challenge

The video should be under Summer Term - Week 9

Friday Maths Challenge - Coming Soon!


https://whiterosemaths.com/homelearning/year-4/

Look at each pair of calculations.

Which one out of each pair has the same
difference as 2,450 — 18307

2,451 — 1831 2,451 —1829

2,500 — 1,880 2,500 — 1,780

2,449 — 1829 2,449 — 1831

When is it useful to use difference to
solve subtractions?




2,451 -1831
Added one to each
number.

2,500 -1880
Added 50 to both

numbers.
2,449 - 1829

Subtracted one
from each
number.

The differenceis
620




